
ȸɎɕɔɈɡɋ 
ȴȾȮȧȰȮ  

ɕɖɔɋɐɘɎɖɔɈɆɓɎɥ Ɏ ɒɔɓɘɆɌɆ 
ɕɔɑɎɐɆɖɇɔɓɆɘɓɡɛ ɐɔɓɗɘɖəɐɜɎɏ 



2 

ȵɖɔɋɐɘɎɖɔɈɆɓɎɋ /ɒɔɓɘɆɌ  
ɇɋɍ əɝɋɘɆ  
ɘɋɖɒɎɝɋɗɐɔɉɔ ɖɆɗɞɎɖɋɓɎɥ  
ɕɔɑɎɐɆɖɇɔɓɆɘɆ  
0,065  ǲǲ/ǲæǗ 

1.  
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ȵɖɔɋɐɘɎɖɔɈɆɓɎɋ /ɒɔɓɘɆɌ ɇɋɍ əɝɋɘɆ ɘɋɖɒɎɝɋɗɐɔɉɔ 
ɖɆɗɞɎɖɋɓɎɥ ɕɔɑɎɐɆɖɇɔɓɆɘɆ 0,065 ɒɒ/ɒǧȷ 1.  
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ȵɖɔɋɐɘɎɖɔɈɆɓɎɋ /ɒɔɓɘɆɌ ɇɋɍ əɝɋɘɆ ɘɋɖɒɎɝɋɗɐɔɉɔ 
ɖɆɗɞɎɖɋɓɎɥ ɕɔɑɎɐɆɖɇɔɓɆɘɆ 0,065 ɒɒ/ɒǧȷ 1.  
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1.  

ȵɖɔɋɐɘɎɖɔɈɆɓ
Ɏɋ /ɒɔɓɘɆɌ 
ɇɋɍ əɝɋɘɆ 
ɘɋɖɒɎɝɋɗɐɔɉɔ 
ɖɆɗɞɎɖɋɓɎɥ 
ɕɔɑɎɐɆɖɇɔɓɆɘɆ 
0,065 ɒɒ/ɒǧȷ 
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ȵɖɔɋɐɘɎɖɔɈɆɓɎɋ /ɒɔɓɘɆɌ ɇɋɍ əɝɋɘɆ ɘɋɖɒɎɝɋɗɐɔɉɔ 
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ȵɖɔɋɐɘɎɖɔɈɆɓɎɋ /ɒɔɓɘɆɌ ɇɋɍ əɝɋɘɆ ɘɋɖɒɎɝɋɗɐɔɉɔ 
ɖɆɗɞɎɖɋɓɎɥ ɕɔɑɎɐɆɖɇɔɓɆɘɆ 0,065 ɒɒ/ɒǧȷ 1.  
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ȵɖɔɋɐɘɎɖɔɈɆɓɎɋ /ɒɔɓɘɆɌ ɇɋɍ əɝɋɘɆ ɘɋɖɒɎɝɋɗɐɔɉɔ 
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ȵɖɔɋɐɘɎɖɔɈɆɓɎɋ /ɒɔɓɘɆɌ ɇɋɍ əɝɋɘɆ ɘɋɖɒɎɝɋɗɐɔɉɔ 
ɖɆɗɞɎɖɋɓɎɥ ɕɔɑɎɐɆɖɇɔɓɆɘɆ 0,065 ɒɒ/ɒǧȷ 1.  


